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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 53r87 2) 7 3 1215 53187
995334 03[651 6[7290 i
0 0 6 ) 7
53 65 12
533 651 09 . 8127
495 651 6
384 0 30 5. 56r4
297 30
57 o 6 214
7 16
4) 8127 5) 56r4 6) 214
74[619 8l452 30[6420 e 29
0 0 0
61 a5 64 o 4246711
0 40 60
619 52 42
592 48 30
27 4 120
120
0
7) 16 8 29 9 424611
55880 387 2[8493
0 6 8
88 27 04
55 27 4
330 0 09
330 8
0 13
12
1
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
7 214 29
1215 4246 rl 53 r87 1
8 r27 56 r4 16
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1) 2) 3)

99(5334 93[651 6[7290 3

4) 5) 6)

74[619 8|452 30(6420 0.

7) 8) 9)

55/880 3l87 2(8493
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